

## Generalization of the Hardy–Littlewood theorem to the two-index case

Kęska, Sergiusz<sup>a</sup>

<sup>a</sup> *University of Siedlce, Faculty of Exact and Natural Sciences, Institute of Mathematics, Siedlce, Poland*

### ABSTRACT

In this paper we study methods of summability of series. We extend the results of regular summability methods to the domain of multi-index sequences. In particular, we show the relations between Abel's and Cesàro's methods. The main result is a generalization of the well-known Hardy-Littlewood theorem to double sequences.

### KEYWORDS

Summability methods, Hardy-Littlewood theorem, Abel method, Cesàro method

## Introduction

Let's recall the definitions of regularity and present methods of summability (limesability) from the 19th and early 20th centuries.

**Definition 0.1.** *A summability method is called regular if it preserves the value of the sum of a series when this series converges according to the "natural definition of convergence".*

**Definition 0.2.** *The series  $\sum b_n$  is called Abel summable (A) with sum  $s$ , if*  
$$\lim_{x \rightarrow 1^-} \sum b_n x^n = s$$

If in the Definition 0.2 the element  $b_n$  is replaced by the difference of two consecutive terms of another sequence:  $b_n = a_n - a_{n-1}$  then we will obtain the same method for the sequence of partial sums  $(a_n)$ . Let us recall the definition of Abel summability.

**Definition 0.3.** *The sequence  $(a_n)$  is called Abel summable (A) with sum  $s$ , if*  
$$\lim_{x \rightarrow 1^-} (1-x) \sum a_n x^n = s.$$

The next historical summability procedures were the regular Hölder [4] and Cesàro methods.

**Definition 0.4.** *The sequence  $(a_n)$  is called Hölder  $(H, k)$  summable with sum  $s$  if:*

$$\lim_{n \rightarrow \infty} H_n^k = s, \text{ where } H_n^k = \frac{H_0^{k-1} + \dots + H_n^{k-1}}{n+1} \text{ i } H_n^0 = a_n.$$

---

CONTACT Author<sup>a</sup>. Email: [keska@se.onet.pl](mailto:keska@se.onet.pl) ; [sergiusz.keska@uws.edu.pl](mailto:sergiusz.keska@uws.edu.pl)

---

### Article History

Received : 09 May 2025; Revised : 03 June 2025; Accepted : 08 June 2025; Published : 26 June 2025

### To cite this paper

Keska, Sergiusza (2025). Generalization of the HardyLittlewood theorem to the two-index case. *International Journal of Mathematics, Statistics and Operations Research*. 5(1), 95-103.

**Definition 0.5.** The sequence  $(a_n)$  is called Cesàro  $(C, k)$  summable with sum  $s$  if:

$$\lim_{n \rightarrow \infty} \frac{A_n^k}{E_n^k} = s, \text{ where } A_n^k = A_0^{k-1} + \dots + A_n^{k-1}, A_n^0 = a_n, E_n^k = \binom{n+k}{k}.$$

**Definition 0.6.** The sequence  $(a_n)$  is called Hausdorff  $(\sigma, \mu_n)$  summable with sum  $s$ , if:

$$\lim_{m \rightarrow \infty} \sum_{n=0}^m \binom{m}{n} (\Delta^{m-n} \mu_n) a_n = s,$$

where

$$\Delta^p \mu_n = \sum_{i=0}^p (-1)^i \binom{p}{i} \mu_{n+i}.$$

The Hausdorff methods contain the Cesàro and Hölder methods as special cases. Let us recall that:

**Theorem 0.1.** If the sequence  $(a_n)$  is summable by Cesàro's  $(C, 1)$  method, then it is summable by Abel's method to the same limit.

**Theorem 0.2. (Hardy – Littlewood)**

If the sequence  $(a_n)$  is summable by Abel's method, and  $a_n \geq 0$  then it is summable by Cesàro's  $(C, 1)$  method to the same limit.

The proofs of the above-formulated theorems can be found in the work [3].

We will give the definitions and Toeplitz's theorems for single-index sequences (classical theorem) and multi-index sequences.

**Definition 0.7.** A matrix  $C = [c_{mn}]$  is regular if it transforms every convergent sequence into a sequence convergent to the same limit, i.e.

$$\forall a_n (a_n \rightarrow \sigma) \Rightarrow (\forall m \sum_{n=0}^{\infty} c_{mn} a_n \text{ is convergent and } \sum_{n=0}^{\infty} c_{mn} a_n \rightarrow \sigma).$$

In this way, we will define regularity as "1 + 2 + 1" regularity.

The symbol "1 + 2 + 1" indicates that a 2-dimensional matrix acts on a 1-dimensional vector to give a 1-dimensional vector.

Let us now recall the classical theorem of Otto Toeplitz from 1911 giving the conditions for equivalence of regularity.

**Theorem 0.3.** The matrix  $C = [c_{mn}]$  is "1 + 2 + 1" regular if and only if the following conditions are satisfied:

- T1)  $\forall n \geq 0 \lim_{m \rightarrow \infty} c_{mn} = 0;$
- T2)  $\lim_{m \rightarrow \infty} \sum_{n=0}^{\infty} c_{mn} = 1;$
- T3)  $\exists N > 0 \forall m \geq 0 \sum_{n=0}^{\infty} |c_{mn}| < M.$

The original proof of the above theorem can be found in [7], see also [1] or [3].

The above Toeplitz theorem has many applications, in particular in the proof of the classical Hausdorff moment theorem, see [1]. This theorem has found applications in a number of analytic and algebraic problems in several variables.

We now give the definition and Toeplitz's theorem for the case of a multi-index sequence.

**Definition 0.8.** Let's assume  $C = [c_{m_1, \dots, m_{r_2}, n_1, \dots, n_{r_1}}]$ , where  $r_1, r_2$  are fixed natural numbers. We call the matrix  $C$  „ $r_1 + (r_1 + r_2) + r_2$ ” regular if for every  $r_1$ -indicator sequence  $(a_{n_1, \dots, n_{r_1}})$  convergent to  $\sigma$ , the  $r_2$ -indicator sequence

$$V = [v_{m_1, \dots, m_{r_2}}], \text{ where } v_{m_1, \dots, m_{r_2}} = \sum_{\substack{n_1=0 \\ \vdots \\ n_{r_1}=0}}^{\infty} a_{n_1, \dots, n_{r_1}} c_{m_1, \dots, m_{r_2}, n_1, \dots, n_{r_1}},$$

tends to  $\sigma$ , where  $m_1, m_2, \dots, m_{r_2}$  tend to infinity.

**Theorem 0.4.** The matrix  $C$  is „ $r_1 + (r_1 + r_2) + r_2$ ” regular if and only if the following conditions hold:

T1)

$$\forall n_1, \dots, n_{r_1} \lim_{m_1, \dots, m_{r_2} \rightarrow \infty} c_{m_1, \dots, m_{r_2}, n_1, \dots, n_{r_1}} = 0;$$

T2)

$$\lim_{m \rightarrow \infty} \sum_{\substack{n_1=0 \\ \vdots \\ n_{r_1}=0}}^{\infty} c_{m_1, \dots, m_{r_2}, n_1, \dots, n_{r_1}} = 1;$$

T3')

$$\forall m_1, \dots, m_{r_2} \exists K \sum_{\substack{n_1=0 \\ \vdots \\ n_{r_1}=0}}^{\infty} |c_{m_1, \dots, m_{r_2}, n_1, \dots, n_{r_1}}| < K;$$

T3'')

$$\exists K, M \forall m_1, \dots, m_{r_2} > M \sum_{\substack{n_1=0 \\ \vdots \\ n_{r_1}=0}}^{\infty} |c_{m_1, \dots, m_{r_2}, n_1, \dots, n_{r_1}}| < K;$$

T4)

$$\forall n_{i_1}, \dots, n_{i_j} \forall m_1, \dots, m_{r_2} \exists N \forall n_{k_1}, \dots, n_{k_{r_1-j}} > N \quad c_{m_1, \dots, m_{r_2}, n_1, \dots, n_{r_1}} = 0,$$

$$\forall n_{i_1}, \dots, n_{i_j} \exists M, N \forall m_1, \dots, m_{r_2} > M \forall n_{k_1}, \dots, n_{k_{r_1-j}} > N \quad c_{m_1, \dots, m_{r_2}, n_1, \dots, n_{r_1}} = 0,$$

for all  $j = 1, 2, \dots, r_1$ . With  $j$  fixed, the indices  $i_s, k_t \in \{1, 2, \dots, r_1\}$ , where  $s = 1, 2, \dots, j$  and  $t = 1, 2, \dots, r_1 - j$ , and additionally the following conditions are fulfilled:  $i_{s'} \neq i_{s''}$  for  $s' \neq s''$ ,  $k_{t'} \neq k_{t''}$  for  $t' \neq t''$  and  $\forall s, t \ i_s \neq k_t$ .

More details and proofs of the theorems can be found in the works [2], [5] and [6].

### 1. Main results

The next theorem will attempt to generalize the Hardy-Littlewood theorem to the two-indicator case. First, we define Abel's method for a bounded sequence  $(a_{mn})$  and we will show the regularity of this method.

**Definition 1.1.** *The double non-negative, bounded sequence  $(a_{mn})$  is Abel summable to  $c$  if*

$$\lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \sum_{m,n=0}^{\infty} a_{mn} r^m s^n (1-r)(1-s) = c, \text{ where } a_{mn} \geq 0.$$

We will prove the regularity of this method, i.e. we will show that for every non-negative and bounded double sequence  $(a_{mn})$  we obtain: if  $a_{mn} \rightarrow c$  then:

$$\forall r, s \in [0, 1) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n (1-r)(1-s) \text{ is convergent and}$$

$$\lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \sum_{m,n=0}^{\infty} a_{mn} r^m s^n (1-r)(1-s) = c.$$

Let

$$a_{mn} \rightarrow c, \text{ to } c - \epsilon \leq a_{mn} \leq c + \epsilon \text{ for } m, n > N. \tag{1}$$

$$\begin{aligned} \sum a_{mn} r^m s^n (1-r)(1-s) &\leq (1-r)(1-s) \sum_{m,n=0}^N r^m s^n a_{mn} + \\ &+ \sum_{\substack{m=+\infty \\ n=N \\ m=N+1 \\ n=0}} (1-r)(1-s) a_{mn} r^m s^n + \\ &+ \sum_{\substack{m=+\infty \\ n=N \\ m=0 \\ n=N+1}} (1-r)(1-s) a_{mn} r^m s^n + \sum_{m,n=N+1}^{\infty} (1-r)(1-s) a_{mn} r^m s^n. \end{aligned} \tag{2}$$

The first term of the sum (2) converges to 0 if  $r, s \rightarrow 1-$ . We estimate the second part of the sum (2):

$$0 \leq (1-r)(1-s) \sum_{n=0}^N s^n \sum_{m=N+1}^{\infty} a_{mn} r^m \leq G(1-r)(1-s) \sum_{n=0}^N s^n \frac{r^{N+1}}{1-r} = Gr^{N+1}(1-s^{N+1}),$$

where  $G = \sup_{m,n} a_{mn}$ . The second component is so that it converges to 0 if  $r, s \rightarrow 1-$ . The third component can be estimated in a similar way to the second one. After consideration (1) we obtain:

$$(1-r)(1-s) \sum_{m,n=N+1}^{\infty} r^m s^n a_{mn} \leq (c + \epsilon) s^{N+1} r^{N+1} \rightarrow c + \epsilon.$$

We have shown that the sum on the left hand side of (2) converges to  $c$ , if  $r, s \rightarrow 1-$ . This means that the considered method is regular.

**Theorem 1.1.** *If a bounded, non-negative sequence  $(a_{mn})$  is summable by the Abel method then it is summable by the generalized Cesàro method:*

$$\lim_{k,l \rightarrow \infty} \frac{1}{kl} \sum_{m,n=0}^{k,l} a_{mn}$$

to the same limit.

**Remark 1.1.** *The generalized Cesàro method is not regular.*

For example the sequence  $(a_{mn})_{m,n=0}^{\infty}$ , where  $a_{mn} = 0$  for  $m \neq 0$  and  $a_{mn} = n^2$  for  $m = 0$  tends to 0 as  $m \rightarrow \infty, n \rightarrow \infty$ . After using the generalized Cesàro method, we obtain:  $v_{kl} = \frac{1}{kl} \sum_{m,n=0}^{k,l} a_{mn} = \frac{(l+1)(2l+1)}{6k}$  and  $\lim_{k,l \rightarrow \infty} v_{kl}$  does not exist. In other words, condition T4) of Theorem 0.4 is not fulfilled.

We will precede the proof of Theorem 1.1 with the following lemma.

**Lemma 1.1.** *Let  $f : [0, 1] \times [0, 1] \rightarrow R$  be a function such that for any  $\epsilon > 0$  there exist functions  $f_1$  and  $f_2$ , defined and continuous on  $[0, 1] \times [0, 1]$ , satisfying the inequality  $f_1 \leq f \leq f_2$  and such that  $\int (f_2 - f_1) < \epsilon$ . Then for  $a_{mn} \geq 0$  the following holds:*

$$\lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n f(r^m, s^n) = c \cdot \int_0^1 \int_0^1 f(x, y) dx dy, \quad (3)$$

where

$$c = \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n.$$

**Proof.** We assume that

$$\lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n = c. \quad (4)$$

Let's first consider the functions  $f(x, y) = x^u y^v$  where  $u, v \geq 0$ . Then:

$$\begin{aligned}
 & \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n f(r^m, s^n) = \\
 & = \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n (r^m)^u (s^n)^v = \\
 & = \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} (r^{1+u})^m (s^{1+v})^n = \\
 & = \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \frac{(1-r)(1-s)}{(1-r^{u+1})(1-s^{v+1})} \sum_{m,n=0}^{\infty} a_{mn} (1-r^{u+1}) (1-s^{v+1}) \cdot (r^{1+u})^m (s^{1+v})^n.
 \end{aligned}$$

Let's note that

$$\lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \sum_{m,n=0}^{\infty} a_{mn} (1-r^{u+1}) (1-s^{v+1}) (r^{1+u})^m (s^{1+v})^n = c,$$

this follows from (4). Moreover

$$\begin{aligned}
 & \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \frac{(1-r)(1-s)}{(1-r^{u+1})(1-s^{v+1})} = \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \frac{(1-r)}{(1-r^{u+1})} \cdot \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \frac{(1-s)}{(1-s^{v+1})} = \\
 & = \lim_{r \rightarrow 1-} \frac{1}{(u+1)r^u} \cdot \lim_{s \rightarrow 1-} \frac{1}{(v+1)s^v} = \frac{1}{u+1} \cdot \frac{1}{v+1} = \int_0^1 \int_0^1 x^u y^v dx dy.
 \end{aligned}$$

Therefore

$$\lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n f(r^m, s^n) = c \int_0^1 \int_0^1 f(x, y) dx dy \quad (5)$$

for  $f(x, y) = x^u y^v$ .

Let's consider the function  $g(x, y) = \sum_{u,v} \alpha_{uv} x^u y^v$ .

$$\begin{aligned} & \lim_{\substack{r \rightarrow 1^- \\ s \rightarrow 1^-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n \sum_{u,v} \alpha_{uv} (r^u)^m (s^v)^n = \\ &= \sum_{u,v} \alpha_{uv} \lim_{\substack{r \rightarrow 1^- \\ s \rightarrow 1^-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^{(1+u)m} s^{(1+v)n} = \\ &= \sum_{u,v} \alpha_{uv} \lim_{\substack{r \rightarrow 1^- \\ s \rightarrow 1^-}} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n f(r^m, s^n) = \\ &= \sum_{u,v} \alpha_{uv} \cdot c \int_0^1 \int_0^1 x^u y^v dx dy = c \cdot \int_0^1 \int_0^1 g(x, y) dx dy, \end{aligned}$$

this follows from (5) for  $f(x, y) = x^u y^v$ . Hence the formula (3) is true for any polynomial. We get  $f_1, f_2$ , that is:

$$f_1, f_2 \in C([0, 1] \times [0, 1]) \text{ and } \forall x, y \in [0, 1] \quad f_1(x, y) \leq f(x, y) \leq f_2(x, y),$$

and  $\int_0^1 \int_0^1 (f_2(x, y) - f_1(x, y)) dx dy < \epsilon$ , where  $f$  satisfies the assumptions of the lemma. Let  $P_1, P_2$  - be polynomials such that

$$\forall x, y \in [0, 1] \quad |P_1(x, y) - f_1(x, y)| < \epsilon \text{ and } |P_2(x, y) - f_2(x, y)| < \epsilon.$$

Then for  $a_{mn} \geq 0$  we obtain:

$$\begin{aligned} (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n P_1(r^m, s^n) - \epsilon &\leq (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n f(r^m, s^n) \leq \\ &\leq (1-r)(1-s) \sum_{m,n=0}^{\infty} a_{mn} r^m s^n P_2(r^m, s^n) + \epsilon. \end{aligned}$$

Therefore,

$$\begin{aligned} & c \left( \int_0^1 \int_0^1 f(x, y) dx dy - 2\epsilon \right) \leq \\ & \leq c \left( \int_0^1 \int_0^1 P_1(x, y) dx dy - \epsilon \right) \leq \liminf_{\substack{r \rightarrow 1^- \\ s \rightarrow 1^-}} \sum_{m,n=0}^{\infty} a_{mn} r^m s^n f(r^m, s^n) \end{aligned}$$

and

$$\begin{aligned} & c \left( \int_0^1 \int_0^1 f(x, y) dx dy - 2\epsilon \right) \geq \\ & \geq c \left( \int_0^1 \int_0^1 P_2(x, y) dx dy + \epsilon \right) \geq \limsup_{\substack{r \rightarrow 1^- \\ s \rightarrow 1^-}} \sum_{m,n=0}^{\infty} a_{mn} r^m s^n f(r^m, s^n). \end{aligned}$$

Taking into account the arbitrariness of  $\epsilon$ , we get:

$$\lim_{r \rightarrow 1^-, s \rightarrow 1^-} \sum_{m,n=0}^{\infty} a_{mn} r^m s^n f(r^m, s^n) = c \cdot \int_0^1 \int_0^1 f(x, y) dx dy,$$

which completes the proof of the Lemma 1.1.  $\square$

Proof of the Theorem 1.1

**Proof.** We assume that the sequence  $(a_{mn})$  is summable by the Abel method to the value  $c$ . Let's define:

$$h(x, y) = \begin{cases} \frac{1}{xy} & \text{for } x \geq \frac{1}{e} \text{ and } y \geq \frac{1}{e}, \\ 0 & \text{for others } x, y \end{cases}.$$

The function  $h$  satisfies the assumptions of the Lemma 1.1.

$$\begin{aligned} \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \sum_{m,n=0}^{\infty} (1-r)(1-s)a_{mn}r^m s^n h(r^m, s^n) &= \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{\substack{m:r^m \geq \frac{1}{e} \\ n:s^n \geq \frac{1}{e}}} a_{mn} r^m s^n \frac{1}{r^m s^n} = \\ &= \lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{\substack{m:r^m \geq \frac{1}{e} \\ n:s^n \geq \frac{1}{e}}} a_{mn}. \end{aligned} \quad (6)$$

After consideration the Lemma 1.1 we obtain

$$\lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} \sum_{m,n=0}^{\infty} (1-r)(1-s)a_{mn}r^m s^n h(r^m, s^n) = c \int_0^1 \int_0^1 h(x, y) dx dy = c \left( \int_{1/e}^1 1/x dx \right)^2 = c. \quad (7)$$

Therefore

$$\lim_{\substack{r \rightarrow 1- \\ s \rightarrow 1-}} (1-r)(1-s) \sum_{\substack{m:r^m \geq \frac{1}{e} \\ n:s^n \geq \frac{1}{e}}} a_{mn} = c, \quad (8)$$

this follows from (6) and (7). If  $r_k = \left(\frac{1}{e}\right)^{\frac{1}{k}}$  and  $s_l = \left(\frac{1}{e}\right)^{\frac{1}{l}}$  then  $\lim_{k,l \rightarrow \infty} (r_k, s_l) = (1-, 1-)$  and:

$$\begin{aligned} &\lim_{\substack{k \rightarrow \infty \\ l \rightarrow \infty}} k \left(1 - \left(\frac{1}{e}\right)^{\frac{1}{k}}\right) l \left(1 - \left(\frac{1}{e}\right)^{\frac{1}{l}}\right) \sum_{\substack{m \leq k \\ n \leq l}} \frac{a_{mn}}{kl} = \\ &= \lim_{k \rightarrow \infty} k \left(1 - \left(\frac{1}{e}\right)^{\frac{1}{k}}\right) \lim_{l \rightarrow \infty} l \left(1 - \left(\frac{1}{e}\right)^{\frac{1}{l}}\right) \lim_{k,l \rightarrow \infty} \frac{1}{kl} \sum_{m,n=0}^{k,l} a_{mn} = \\ &= \lim_{k,l \rightarrow \infty} \frac{1}{kl} \sum_{\substack{m=k \\ n=l}}^{m=k \\ n=l} a_{mn} = c, \end{aligned}$$

this follows from (8).  $\square$

## References

- [1] J. Czyż, *Paradoxes of Measures and Dimensions Originating in F. Hausdorff's Ideas*, World Scientific, Singapore, 1994.
- [2] H. J. Hamilton, Transformations of multiple sequences, *Duke Math. Journal* 2, 29-60 (1936).
- [3] G. H. Hardy, *Divergent series*, Clarendon Press, Oxford, 1949.
- [4] O. Hölder, Zur Theorie der trigonometrischen Reihen, *Math. Annalen* 24, 1 (1887).
- [5] S. Keşka, Fractal-Dimensional version of Toeplitz theorem, *Research Trends in Mathematics and Statistics* 11, 107-117 (2021).
- [6] S. Keşka, A variant of the Hausdorff theorem for multiindex matrices II, *Linear Algebra and Its Applications* 327, 17-26 (2001).
- [7] O. Toeplitz, O ogólnych utworach średnich liniowych, *Prace Matematyczno-Fizyczne* 22, 113-119 (1911).